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Section A {20 x 2 marks)

For each of the following questions, choose the correct answer and shade the
correct oval (1, 2, 3 or 4) on the Optical Answer Sheet {OAS) provided.

1. In 9125, the digit 2 is in the place.

{1} ones

{2} tens

{3} hundreds
{4} thousands

2. . n 6802, the value of the digit 8 is

(1) 8
2} 8o
{(3) 800
{4) 8000

3. In which of the following numbers does the digit 4 have the greatest
vailue?

(1) 1534
&) 4003
(3} 7420
(4) 8541

4. Which of these Aumbers is the smallest?

(1) 7294
2} 7249
(3) 7492
(4} 7429

5. 9+ 300+ 8000 = -
(1) 8039
(2) 8093
3) 8309
(4) 8390

ACS (3} P3 MA SAT 2008 H Sub-Totai :D



6. 11 hundreds and 14 tens Iis the same as

(1) 1114
2) 1014
{3} 1240
(4) 1214
7. The ditference betv}een two numbers is 6354. Given that the sma_{ter

number 571459, find the farger number.

(1) 48s9
(2) 4895
3) 7813
(4) 7849

8. Which of the following pair of numbers has the smaffest difference?

(1) 4576 and 576
{2) 9839 and 839
(3) 7438 and 1438
(4) 5475 and 2475

9. 849 - = 150

(1) 609
(2} 695
(3) 709
{(4) 999

10.  Formas rﬁany 3-dhigit numbers as possible usihg the digits 1, 2 and 3.
For each number, use each digit only once. In how many ways can
you form the numbers? '

(1) 6
(2 2
{3) 8
4y 4

1. When Simon added 2232 and 3643, he got 5975 as the answer.
He made a mistake in the place.

(1) ones

(2) tens

{3} hundreds
{4} thousands
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2. Ranihas $100. She has to buy 3 different presents. Which are the
presents she can buy?

$23 $53 $31 {845 $49
A 8 C D E

(1) A BandC
{2) A, BandD

3} A CandD .
(4) A,CandE '

—

13. 44 tens x 5 has the same value as

{1} 200
2y 220

(3} 2000
{4} 2200

14, Which one of the faliowing is the greatest?

{1) 10tens +2
{2) 20tens =10
{3} 20x2tens
(4) 2x10tens

15. 4 groupsof 8is less than 7 eights. o

(18
2) 24
3 32
(4} s6

16.  The product of 303 and 7 is 1000 more than
(1) t121
(2) 1301

(3} 3121
(4} 3301
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17.

18.

19,

20.

distance between each pole?
(1) 8m
2} 9m

(3) 63m
(4) 81m

at the party?

(1) 305

{2) 355

(3) 405
(4) ass

H2x18=36
Then 10xi8=36+

(1) 2x18

(2) 8x18

(3) 10x18 _ _
(4) 12x18 |

END OF BOOKLET A
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Section B (20 x 2 marks)

Work out the following sums and write your answers in the boxes provided.

21.  Complete the number pattern.
4398, 4378, 4358, , 4318
|
22. (a) Circle the greatest number.
(b}  Cross (X} out the smalies] number.
4798 4879 4987 4897
23. 9345is tess than 9895.
24.  The difference between the values of the digit 9 in 9795 is
25.  The greatest possible 4-digit odd number that can be formed using the
digits 7, 5,0, Gis
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26.  Both E’ stand for the same digit
‘What is the value of A?

27.  Andrew has 3185 marbles. Dillon has 1320

marbles more than Andrew.
How many marbles does Diilon have?

28.  When ! subtract a certain number from 100

and multiply the answer by 9,
i get 45. What is the number?

]

29 5000 is tens more than 4980.
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30.  !think of a 2-digit number.
It is between 30 and 50,
The digits are all different odd numbers.
The digit in the ones place is thrice the digit in the tens place.
Using the clues given, what is the number?

31, If©+© +© + © +® + © =738

What is @ +37

]

32. Study the pattern below. How'neany stars are therg jn the 6™ figure?

% ] K A K
i k] k| K] | & kA ]k
Aokl A ]k ok ki k] LA k| A ]k l?
ikl |kl k| A ki Al Af ki k] i k] k| *k 4
ki k| ikj k] | kA ki k] k] k] A A &
1st 2nd 3rd 4th SETTPFPS 6th

stars

3354%*:9

J &% -4

What does ﬂ stand for? : ‘
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34.  The sum of 2 numbers is 702. if the larger number is twice the smalier
' aumber, what is the smaller number?

-

35 Whatis the quotient when 915 is ditkled by 3?

R

She packed them into bags of 2 each. How

3-6.»"'- Mrs Yap had 216 oranges.
many bags does she hdve?

]

37. MrPeck cut 200 m of If each piece was 4 m

rope into 38 equal pieces.
long, what was the length of the rope left?
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38.  Mrs Li had some $5 notes.

She had 116 of them. She used some of them
to buy a bag which cost $2

85. How many 5-dollar notes had she ieft?

S-doHar notes ,
39 5magarzines cost as much as four bdoks. Jenny bought 8 books for $80.
‘What is the cost of § magqazine?

s ]

Farmer Jake has 4 times as many seeds as Farmer Pete.
more seeds than Farmer Pete, how many seeds does Far

40. it he has 483
mer Pete have?

L - seeds
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SectionC ({5 x 4 marks)

Work out the following sums carefully. Show eac

h step of your working clearly as
marks will be given for working and refevant statements.

A printer cost $385. A laptop cost $1795 more than the printer.
How much did both the items cost? ]

"42.  Abaker had 1329 cooki

es. 215 cookies were sol
How many cookies doe

d and he baked 350 more.
s the baker have now? :
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43. . Doltah and Sue shared $528 equaily. Helen had $195. How much more
money did Sue have than Helen? :

44.  Jimmy, Susie and Lynn packed 724 by

three times as many bags as Lynn. Ji
bags did Lynn pack?

gs of apples in a day. Susie packed
mmy packed 260 bags. How many
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45.  Meenuand her brother had 90 marbles altogether. After Meenu gave her
brother 6 marbles, they had the same number of marbles.
How many marbles did her brother have at first?

---—-End of the paper-—---—
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EXAM PAPER 2009

SCHOOL : ACS HIGH PRIMARY
SUBJECT : PRIMARY 3 MATHEMATICS

TERM : SA1

QL Q2103 1Q4{Q5 ][ Q6| Q7| Q8 QQ Q10 Q11 | Q12 Q13' Q14 | Q15 Q16
2 3 2 2 3 3 3 4 2 1 '

Q18] Q19 Q20

2 | 2] 2
21)4338 zz)%s, 23)550  24)8910 25)9705  26)8

27)4505 28)95 29)2 30)39 31)41  32)49 33)8  34)234

35)305 36)108 37)48m  38)59 39)$8 40)161

41)385+1795=2180 42)1329-215=1114
The Laptop cost $2180 He had 1114 cookies after seiling 215
2180+385=22565 cookies,
They cost $2565 in all. 1114+350=1464
The baker has 1464 cookies now.
43)528+-2=264 44)724-260=464
Dotliah and Sue have $264 each Lynn and Susie packed 464 bags of
264-195=69 apples.
Sue has $69 more than Helen. 464--4=16
Lynn packet 116 bags apples.
45)90-12=78
Meenu and her brother have 78 marbles after 12 marbles
78+ 2=39

Her brother has 39 marbles at first.



